113 FE >2ABERFHLE

==> RS

#1: 4 Catchall(59.6) #2: 3 [EI5L(53.96) #3: 6 BHEE(49.08)

1 NS: #7% ¥R GEEI0) -7 2 NS: 21585 Bt 4(BAC) 1 VP:| 7.29 12.71| Total VP: 42.63 Rank:
EW: =% sREREAC) -1 EW: 255 EHE(BO) 7 IMP:| 7 : 16 6
#1 s 95 4CN-1 -50 Mean: 3HE-2 100 3.0 1 [[#2 » 54 4DW-1 50 Mean: 3NW-2 100 30 1
v K2 2NXE-1100 © 2NXE-1 100 3.0 1 v AJT532 3HN-1-100 -10  4DW-1 50 20 2
» KT84 Dif: -150 NS:-2 2DW-2 100 3.0 1 ¢ JT8 Dif: 150 NS:2  3HN-1 4100 -3.0 2
& A9654 IMP: -4 EW:-3 4CN-1 50 20 1 » 93 IMP: 4 EW:3 2HN-1 100 -3.0 1
» T864 » A32 3CS-1 50 20 1 ||aT7 » AK632
v QT v J8653 2DXW2 180 -50 1 v 76 I v Q8
¢ AJ7652 * Q9 + AKQ74 ¢ 632
*»Q » KJ8 & AT87 & 652
®+VBN 4, KQJ7 F¢VAN 4, QI8
N 3~~~2 9vA974 N ~~2~~ v K94
S 3~~~2 ¢3 S ~~2~~ 49
E ~~~~~ & 1732 E 23~11 & KQJ
W ~~~~~ W 23~11
#3 o T8762 4HN4 420 Mean: 4HS5 450 3.0 4 ||#4 # K65 4CW-1100 Mean: 4CW-1 100 3.0 1
v K8742 4HS5450 360  4HN4 420 20 1 v QJ4 3DS3110 -10  3HE- 100 30 1
¢ A Dif: -30 NS:2  6HN-1 50 9.0 1 ¢ AJ52 Dif: -10 NS:3 3DS3 110 3.0 1
IMP: -1 EW:-3 & 754 IMP: 0 EW:-3 3DS-1 4100 -3.0 2
a 94 a AJT7 3NN-2 200 -50 1
v T86 + v K9532
+ Q94 *3
& AQJT2 » 986
B o VAN 4, Q832
N ~3~21 ¢A7
S ~3~21 ¢ KT876
E 2~3~~ akK3
W 2 ~3~~
#5 4 T873 2HN-2 -200 Mean: 2HN-1 100 20 3 ||#6 4T3 4SW-1 100 Mean: 4SW-2 200 60 2
v A8 2HN-1 -100 -150  2HN-2 200 -20 3 v 76 4SW-2200 -30  4SW-1 100 40 1
¢ AKT8 Dif: -100 Ns:-2 + KQ3 Dif: -100 NS:4 3NN-1 50 1.0 1
» KQ7 IMP: -3 EW:-2 & AJ7642 IMP: -3 EW:-6 3SW3 140 3.0 1
s AQJ9 » K42 & AQJ97654 a8 5HXS-3 500 -10.0 1
v KQJ3 v 52 v Q8 — v T5
¢ J64 * Q3 *9 * AJ8742
& A5 » JT9862 & 83 » KQ95
o ¢VABN 4,65 o ¢VABN 4 K2
N ~1~~~ ¢ T9764 N ~~ 2 ~ ~ » AKJ9432
S ~1~~~ 49752 S ~~2~~ o765
E 2~~22 &43 E ~1~3~a&T
W 2~~32 W ~1~3~
#7 » Q53 3HS4 170 Mean: 3HS4 170 50 1 [|#38 » K6 4SS-2 -100 Mean: 2SS3 140 40 1
v J5 3CN3110 -10  3DS4 130 4.0 1 v K987 4HN-2 100 20  5CXE-1 100 30 1
¢ 986 Dif: 60 NS:5 3CN3 110 3.0 1 ¢ 874 Dif: 0 NS:-2 3SS-1 50 1.0 1
& KT985 IMP: 2 EW:-3 2NN-1 4100 -30 1 & J754 IMP: 0 EW:2 4SS-2 4100 20 1
& AT864 ~ J97 3NN-2 200 -50 2 ||as 983 s Q2 4HN-2 100 20 1
v T96 + v A43 v J6543 M 4CE4 430 30 1
¢ T72 ¢ J43 + AQJ2 ¢ T965
& A6 S » Q743 » K » AQT8632
P+ OVABN ,K2 oo VAN 4 AJT754
N 343 ~1 vKQ872 N ~~32~ ¢ AQT2
S 343 ~3 ¢AKQ5 S ~~421 ¢«K3
E ~~~~~ & J2 E 43~~~ a9
W ~~~~~ W 43~~~
#9 & AK842 3NS4 430 Mean: 3NN5 460 1.0 1 # 10 a8 4SE5 -650 Mean: 4SE-1 100 120 1
v A3 3NN5 460 430 3NS4 430 00 2 v K8642 4SE4 -620 -510 4SE4 620 -3.0 2
+ J96 Dif: -30 NS:0 3NN4 430 00 3 + Q98652 Dif: -30 NS:-4 4SE5 650 -40 3
& AJ8 IMP: -1 EW:-1 & A IMP: -1 EW:3
» T976 s J53 K2 & AQJ7543
v J872 v KT9 v AJT9 _I_ v7
* K2 ¢ T75 J3 * K7
& T74 & K952 & KJ542 » Q76
*¢VABN 4,Q oo VABN 4T
N ~5~~4 ¢ Q654 N ~31~~ vQ53
S ~5~~4 +AQ843 S ~31~~ ¢AT4
E ~~~~~ + Q63 E 5~~43 4T983
W ~~~~~ W 5~~43
# 11 » KJ8 3DS3 110 Mean: 4SXW-5 1100 12.0 1 ||# 12 s 76 5HNG 680 Mean: 6HS6 1430 120 1
v AKQ6 3DS4130 380  3NN4 430 20 2 v AK986 4HNG6 680 800  5SN6 680 -3.0 1
. Dif: -20 NS:-7 3DS4 130 6.0 1 + AKQ6 Dif: 0 NS:-3 5HN6 680 -3.0 2
& QJ9543 IMP: -1 EW:6 3DS3 110 7.0 2 & AK IMP: 0 EW:3 4HN6 680 -3.0 2
& Q9654 a T732 » 932 & AJ5
v 9532 v T74 v 74 I v JT2
¢ KQ42 * J9 ¢ 932 ¢+ 874
'y a AKT8 » JT954 » Q763
*4¢VAN LA %o VABN 4 KQT34
N 422~2 ¢J8 N ~6666 v Q53
S 442~ 2 ¢AT87653 S ~6666 ¢JTI5
E ~~~~~ & 762 E ~~~~~ & 82
W ~~~~~ W ~ ~~~~
#13 & QT976 3NS4 630 Mean: 3NS6 690 20 1 ||#14 s K5 3HW5 -200 Mean: 2SS2 110 50 1
v K63 3NS3 600 630 4SN5 650 1.0 1 v 75 2HW3 140 -80  2SS-1 50 1.0 1
¢+ Q32 Dif: 30 NS:0 4SN4 620 00 1 o QJT86 Dif: -60 NS:-3 2HS-1 -50 1.0 1
» Q6 IMP: 1 EW:1 3NS4 630 00 1 » K743 IMP: -2 EW:2 2HW3 140 20 1
4 J5 N a 843 3NS3 600 -1.0 2 ||a » T9876 3HW5 200 -3.0 2
v T85 v Q9742 v KT9632 v Ad
+ A954 + + KJ6 + K543 * A
& J987 & 52 & AQT & J9652
¢ VAN 4AK2 % ¢V AN , AQJ432
N 3~~44 oAJ N ~~~~~ v QJ8
S 3~~43 ¢T87 S ~~m~~~ ¢ 972
E ~~~~~ & AKT43 E 4~5~2 &8
W ~~~~~ W 4~5~2




113 FE >2ABERFHLE

==> RS

#1: 4 Catchall(59.6) #2: 3 [EI5L(53.96) #3: 6 BHEE(49.08)

2 NS: SA58 BRHEERC) 1 1 NS: ¥#i% lE3hh(FOo) -7 VP:| 12.71 7.29 | Total VP: 47.31 Rank:
EW: S5 SEEEE0) 7 EW: Z}i8 sRRFF(BAC) 1 IMP:| 16 : 7 5
#1 s 95 4CN-150 Mean: 3HE-2 100 3.0 1 [[#2 » 54 4DW-1 -50 Mean: 3NW-2 100 30 1
v K2 2NXE-1-100 0 2NXE-1 100 3.0 1 v AJT532 3HN-1100 -10  4DW-1 50 20 2
» KT84 Dif: 150 NS:3 2DW-2 100 3.0 1 ¢ JT8 Dif: -150 NS:-3 3HN-1 4100 -3.0 2
& A9654 IMP: 4 EW:2 4CN-1 50 20 1 » 93 IMP: -4 EW:-2 2HN-1 100 -3.0 1
» T864 » A32 3CS-1 50 20 1 ||aT7 » AK632
v QT v J8653 2DXW2 180 -50 1 v 76 I v Q8
¢ AJ7652 * Q9 + AKQ74 ¢ 632
*»Q » KJ8 & AT87 & 652
®+VBN 4, KQJ7 F¢VAN 4, QI8
N 3~~~2 ¢A974 N ~~2~~ v K94
S 3~~~2 ¢3 S ~~2~~ 49
E ~~~~~ & 1732 E 23~11 & KQJ
W ~~~~~ W 23~11
#3 o T8762 4HN4 -420 Mean: 4HS5 450 3.0 4 ||#4 # K65 4CW-1-100 Mean: 4CW-1 100 3.0 1
v K8742 4HS5 -450 360  4HN4 420 20 1 v QJ4 3DS3-110 -10  3HE-1 100 30 1
¢ A Dif: 30 NS:3  6HN-1 50 9.0 1 ¢ AJ52 Dif: 10 NS:3  3DS3 110 3.0 1
& 72 IMP: 1 EW:-2 & 754 IMP: 0 EW:-3 3DS-1 100 -3.0 2
s AQJ 954 a 94 a AJT7 3NN-2 200 -50 1
v T93 vJ v T86 + v K9532
¢ T6 ¢ 98754 + Q94 *3
» KQT84 » J965 » AQJT2 » 986
*e¢VAN ,K3 B o VAN 4, Q832
~524 N ~3~21 ¢A7
~524 S ~3~21 ¢ KT876
E 2~3~~ akK3
W 2 ~3~~
#5 4 T873 2HN-2 200 Mean: 2HN-1 100 20 3 ||#6 4T3 4SW-1 -100 Mean: 4SW-2 200 60 2
v A8 2HN-1 100 -150  2HN-2 200 -20 3 v 76 4SW-2 -200 -30  4SW-1 100 40 1
¢ AKT8 Dif: 100 Ns:2 + KQ3 Dif: 100 NS:6 3NN-1 50 1.0 1
» KQ7 IMP: 3 EW:2 & AJ7642 IMP: 3 EW:-4 3SW3 140 3.0 1
s AQJ9 » K42 & AQJ97654 a8 5HXS-3 500 -10.0 1
v KQJ3 v 52 v Q8 — v T5
¢ J64 * Q3 *9 * AJ8742
& A5 & JT9862 & 83 » KQ95
o ¢VABN 4,65 o ¢VABN 4 K2
N ~1~~~ ¢ T9764 N ~~ 2~ ~ v AKJ9432
S ~1~~~ 49752 S ~~2~~ o765
E 2~~22 &43 E ~1~3~a&T
W 2~~32 W ~1~3~
#7 » Q53 3HS4 -170 Mean: 3HS4 170 50 1 [|#38 » K6 4SS-2 100 Mean: 2SS3 140 40 1
v J5 3CN3-110 -10 3DS4 130 4.0 1 v K987 4HN-2100 -20 5CXE-1 100 30 1
¢ 986 Dif: -60 NS:3 3CN3 110 3.0 1 ¢ 874 Dif: 0 NS:-2 3SS-1 50 1.0 1
& KT985 IMP: -2 EW:-5 2NN-1 4100 -30 1 & J754 IMP: 0 EW:2 4SS-2 4100 20 1
& AT864 a J97 3NN-2 200 -50 2 ||as 983 s Q2 4HN-2 100 20 1
v T96 + v A43 v J6543 M 4CE4 430 30 1
¢ T72 ¢ J43 + AQJ2 ¢ T965
& A6 S » Q743 » K » AQT8632
P+ OVABN ,K2 oo VAN 4 AJT754
N 343 ~1 vKQ872 N ~~32~ ¢ AQT2
S 343 ~3 ¢AKQ5 S ~~421 ¢«K3
E ~~~~~ & J2 E 43~~~ a9
W ~~~~~ W 43~~~
#9 & AK842 3NS4 -430 Mean: 3NN5 460 1.0 1 # 10 a8 4SE5 650 Mean: 4SE-1 100 120 1
v A3 3NN5-460 430 3NSs4 430 00 2 v K8642 4SE4 620 -510 4SE4 620 -3.0 2
+ J96 Dif: 30 NS:1  3NN4 430 00 3 + Q98652 Dif: 30 NS:-3 4SE5 650 -40 3
& AJ8 IMP: 1 EW:0 & A IMP: 1 EW:4
» T976 s J53 K2 & AQJ7543
v J872 v KT9 v AJT9 _I_ v7
* K2 ¢ T75 J3 * K7
& T74 & K952 & KJ542 » Q76
*¢VABN 4,Q oo VABN 4T
N ~5~~4 v Q654 N ~31~~ »Q53
S ~5~~4 ¢AQ843 S ~31~~ ¢AT4
E ~~~~~ & Q63 E 5~~43 & T983
W ~~~~~ W 5~~43
# 11 » KJ8 3DS3 -110 Mean: 4SXW-5 1100 120 1 ||# 12 s 76 5HNG6 -680 Mean: 6HS6 1430 120 1
v AKQ6 3DS4-130 380  3NN4 430 20 2 v AK986 4HNG6 -680 800  5SN6 680 -3.0 1
. Dif: 20 NS:-6 3DS4 130 6.0 1 + AKQ6 Dif: 0 NS:-3 5HN6 680 -3.0 2
& QJ9543 IMP: 1 EW:7 3DS3 110 7.0 2 & AK IMP: 0 EW:3 4HN6 680 -3.0 2
& Q9654 & T732 » 932 & AJ5
v 9532 v T74 v 74 I v JT2
¢ KQ42 * J9 ¢ 932 ¢ 874
'y a AKT8 » JT954 » Q763
*4¢VAN LA % ¢ VAN o KQT84
N 422~2 ¢J8 N ~6666 v Q53
S 442~ 2 ¢AT87653 S ~6666 ¢JTI5
E ~~~~~ & 762 E ~~~~~ & 82
W ~~~~~ W ~ ~~~~
#13 & QT976 3NS4 -630 Mean: 3NS6 690 20 1 ||#14 s K5 3HW5 200 Mean: 2SS2 110 50 1
v K63 3NS3 -600 630 4SN5 650 1.0 1 v 75 2HW3 140 -80  2SS-1 50 1.0 1
¢+ Q32 Dif: -30 NS:-1 4SN4 620 00 1 o QJT86 Dif: 60 NS:-2 2HS-1 -50 1.0 1
» Q6 IMP: -1 EW:0 3NS4 630 00 1 » K743 IMP: 2 EW:3 2HW3 140 20 1
4 J5 N a 843 3NS3 600 -1.0 2 ||a » T9876 3HW5 200 -3.0 2
v T85 v Q9742 v KT9632 v Ad
+ A954 + + KJ6 + K543 * A
& J987 & 52 & AQT & J9652
% ¢V AN 4 AK2 % ¢V AN , AQJ432
N 3~~44 oAJ N ~~~~~ v QJ8
S 3~~43 ¢T87 S ~~m~~~ ¢ 972
E ~~~~~ & AKT43 E 4~5~2 &8
W ~~~~~ W 4~5~2




113 FE >2ABERFHLE

==> RS

#1: 4 Catchall(59.6) #2: 3 [EI5L(53.96) #3: 6 BHEE(49.08)

3 NS: #BIGE FREET(BH0) 21 4 NS: PRE58E SE{_(FAC) 3 VP:| 13.96 : 6.04 | Total VP: 53.96 Rank:
EW: iR BEEHEEAC) -3 EW: [RES) GRHE£(BAO) -2 IMP:| 31 17 2
-
#1 s 95 3HE-2 100 Mean: 3HE-2 100 3.0 1 [[#2 » 54 4DW-1 50 Mean: 3NW-2 100 30 1
v K2 2DW-2100 © 2NXE-1 100 3.0 1 v AJT532 3HN-1-100 -10  4DW-1 50 20 2
» KT84 Dif: 0 NS:3 2DW-2 100 3.0 1 ¢ JT8 Dif: 150 NS:2  3HN-1 4100 -3.0 2
& A9654 IMP: 0 EW:-3 4CN-1 50 20 1 » 93 IMP: 4 EW:3 2HN-1 100 -3.0 1
» T864 » A32 3CS-1 50 20 1 ||aT7 #» AK632
v QT v J8653 2DXW2 180 -50 1 v 76 I v Q8
¢ AJ7652 * Q9 + AKQ74 ¢ 632
*»Q » KJ8 & AT87 & 652
®+VBN 4, KQJ7 F¢VAN 4, QI8
N 3~~~2 ¢A974 N ~~2~~ v K94
S 3~~~2 ¢3 S ~~2~~ 49
E ~~~~~ & 1732 E 23~11 & KQJ
W ~~~~~ W 23~11
#3 o T8762 4HS5 450 Mean: 4HS5 450 3.0 4 ||#4 # K65 3HE-1 100 Mean: 4CW-1 100 3.0 1
v K8742 4HS5450 360  4HN4 420 20 1 v QJ4 3NN-2 -200 -10  3HE- 100 30 1
¢ A Dif: 0 NS:3  6HN-1 50 9.0 1 ¢ AJ52 Dif: 300 NsS:3 3DS3 110 3.0 1
& 72 IMP: 0 EW:-3 & 754 IMP: 7 EW:5 3DS-1 100 -3.0 2
s AQJ 954 a 94 a AJT7 3NN-2 200 -50 1
v T93 vJ v T86 + v K9532
¢ T6 ¢ 98754 + Q94 *3
» KQT84 » J965 » AQJT2 » 986
*e¢VAN ,K3 B o VAN 4, Q832
~524 N ~3~21 ¢A7
~524 S ~3~21 ¢ KT876
E 2~3~~ akK3
W 2 ~3~~
#5 4 T873 2HN-2 -200 Mean: 2HN-1 100 20 3 ||#6 4T3 4SW-2 200 Mean: 4SW-2 200 60 2
v A8 2HN-1 -100 -150  2HN-2 200 -20 3 v 76 3NN-1-50 -30  4SW-1 100 40 1
¢ AKT8 Dif: -100 Ns:-2 + KQ3 Dif: 250 NS:6 3NN-1 50 1.0 1
» KQ7 IMP: -3 EW:-2 & AJ7642 IMP: 6 EW:1 3SW3 140 3.0 1
& AQJ9 » K42 & AQJ97654 a8 5HXS-3 500 -10.0 1
v KQJ3 v 52 v Q8 — v T5
¢ J64 * Q3 *9 * AJ8742
& A5 & JT9862 & 83 » KQ95
o ¢VABN 4,65 o ¢VABN 4 K2
N ~1~~~ ¢ T9764 N ~~ 2~ ~ v AKJ9432
S ~1~~~ 49752 S ~~2~~ o765
E 2~~22 &43 E ~1~3~a&T
W 2~~32 W ~1~3~
#7 » Q53 3NN-2 -200 Mean: 3HS4 170 50 1 [|#38 » K6 4CE4 -130 Mean: 2SS3 140 40 1
v J5 3DS4130 -10  3DS4 130 40 1 v K987 5CXE-1100 -20  5CXE-1 100 30 1
¢ 986 Dif: -330 NS:-5 3CN3 110 3.0 1 ¢ 874 Dif: -230 NS:-3 3SS-1 50 1.0 1
& KT985 IMP: -8 EW:-4 2NN-1 4100 -30 1 & J754 IMP: -6 EW:-3 4SS-2 4100 20 1
& AT864 a J97 3NN-2 200 -50 2 ||as 983 s Q2 4HN-2 100 20 1
v T96 + v A43 v J6543 M 4CE4 430 30 1
¢ T72 ¢ J43 + AQJ2 ¢ T965
& A6 S » Q743 » K » AQT8632
P+ OVABN ,K2 oo VAN 4 AJT754
N 343 ~1 vKQ872 N ~~32~ ¢ AQT2
S 343 ~3 ¢AKQ5 S ~~421 ¢«K3
E ~~~~~ & J2 E 43~~~ a9
W~~~~~ W 43~~~
#9 & AK842 3NS4 430 Mean: 3NN5 460 1.0 1 # 10 a8 4SE-1 100 Mean: 4SE-1 100 120 1
v A3 3NN4 430 430 3Ns4 430 00 2 v K8642 4SE5 -650 -510 4SE4 620 -3.0 2
+ J96 Dif: 0 NS:0 3NN4 430 00 3 + Q98652 Dif: 750 NS:12 4SE5 650 -40 3
&» AJ8 IMP: 0 EW:0 & A IMP: 13 EW:4
» T976 s J53 K2 & AQJ7543
v J872 v KT9 v AJT9 _I_ v7
* K2 ¢ T75 J3 * K7
& T74 & K952 & KJ542 » Q76
*¢VABN 4,Q oo VABN 4T
N ~5~~4 v Q654 N ~31~~ »Q53
S ~5~~4 ¢AQ843 S ~31~~ ¢AT4
E ~~~~~ & Q63 E 5~~43 & T983
W ~~~~~ W 5~~43
# 11 » KJ8 3NN4 430 Mean: 4SXW-5 1100 12.0 1 ||# 12 s 76 5HNG 680 Mean: 6HS6 1430 120 1
v AKQ6 3NN4 430 380 3NN4 430 20 2 v AK986 4HNG6 680 800  5SN6 680 -3.0 1
. Dif: 0 NS:2 3Ds4 130 6.0 1 + AKQ6 Dif: 0 NS:-3 5HN6 680 -3.0 2
& QJ9543 IMP: 0 EwW:-2 3DS3 110 7.0 2 & AK IMP: 0 EW:3 4HN6 680 -3.0 2
& Q9654 & T732 » 932 & AJ5
v 9532 v T74 v 74 I v JT2
¢ KQ42 * J9 ¢ 932 ¢ 874
'y a AKT8 » JT954 » Q763
*4¢VAN LA % ¢ VAN o KQT84
N 422~2 ¢J8 N ~6666 v Q53
S 442~ 2 ¢AT87653 S ~6666 ¢JTI5
E ~~~~~ & 762 E ~~~~~ & 82
W ~~~~~ W ~ ~~~~
#13 & QT976 3NS6 690 Mean: 3NS6 690 20 1 ||#14 s K5 2HS-1-50 Mean: 2SS2 110 50 1
v K63 4SN5 650 630  4SN5 650 1.0 1 v 75 2SS-1-50 -80  2SS-1 50 1.0 1
¢+ Q32 Dif: 40 NS:2 4SN4 620 00 1 o QJT86 Dif: 0 NS:1  2HS-1 -50 1.0 1
» Q6 IMP: 1 EW:-1 3NS4 630 00 1 » K743 IMP: 0 EW:-1  2HW3 140 20 1
4 J5 N a 843 3NS3 600 -1.0 2 ||a » T9876 3HW5 200 -3.0 2
v T85 v Q9742 v KT9632 v Ad
+ A954 + + KJ6 + K543 * A
& J987 & 52 & AQT & J9652
% ¢V AN 4 AK2 % ¢V AN , AQJ432
N 3~~44 oAJ N ~~~~~ v QJ8
S 3~~43 ¢T87 S ~~m~~~ ¢ 972
E ~~~~~ & AKT43 E 4~5~2 &8
W ~~~~~ W 4~5~2




113 FE >2ABERFHLE

==> RS

#1: 4 Catchall(59.6) #2: 3 [EI5L(53.96) #3: 6 BHEE(49.08)

4 NS: BREESH =E{(FHC) 3 3 NS: 15iR5E BRe5F(FIO) 21 VP:| 6.04 13.96 | Total VP: 59.60 Rank:
EW: BEEEE) BRtA2(BE0) -21 EW: #tixiE BRERR(BAC) -3 IMP:| 17 31 1
—
#1 s 95 3HE-2 -100 Mean: 3HE-2 100 3.0 1 #2 » 54 4DW-1 -50 Mean: 3NW-2 100 3.0 1
v K2 2DW-2-100 © 2NXE-1 100 3.0 1 v AJT532 3HN-1100 -10  4DW-1 50 20 2
» KT84 Dif: 0 NS:3 2DW-2 100 3.0 1 ¢ JT8 Dif: -150 NS:-3 3HN-1 4100 -3.0 2
& A9654 IMP: 0 EW:-3 4CN-1 50 20 1 » 93 IMP: -4 EW:-2 2HN-1 100 -3.0 1
» T864 » A32 3CS-1 50 20 1 ||aT7 #» AK632
v QT v J8653 2DXW2 180 -50 1 v 76 I v Q8
¢ AJ7652 * Q9 + AKQ74 ¢ 632
*»Q » KJ8 & AT87 & 652
®+VBN 4, KQJ7 F¢VAN 4, QI8
N 3 ~~~2 yA974 N ~~2~~ y Ko
S 3~~~2 ¢3 S ~~2~~ 49
E ~~~~~ & 1732 E 23~11 & KQJ
W ~~~~~ W 23~11
#3 o T8762 4HS5 -450 Mean: 4HS5 450 3.0 4 ||#4 # K65 3HE-1-100 Mean: 4CW-1 100 3.0 1
v K8742 4HS5 -450 360  4HN4 420 20 1 v QJ4 3NN-2200 -10  3HE-1 100 30 1
Dif: 0 NS:3  6HN-1 50 9.0 1 ¢ AJ52 Dif: -300 NS:-5 3DS3 110 3.0 1
IMP: 0 EW:-3 & 754 IMP: -7 EW:-3 3DS-1 4100 -3.0 2
a 94 a AJT7 3NN-2 200 -50 1
v T86 + v K9532
+ Q94 *3
» AQJT2 » 986
o o¢VABN 4, Q832
N ~3~21 ¢A7
S ~3~21 ¢ KT876
E 2~3~~ akK3
W 2 ~3~~
#5 4 T873 2HN-2 200 Mean: 2HN-1 100 20 3 ||#6 4T3 4SW-2 -200 Mean: 4SW-2 200 60 2
v A8 2HN-1 100 -150  2HN-2 200 -20 3 v 76 3NN-150 -30  4SW-1 100 40 1
o AKTS8 Dif: 100 Ns:2 + KQ3 Dif: -250 NS:-1  3NN-1 50 1.0 1
» KQ7 IMP: 3 EW:2 & AJ7642 IMP: -6 EW:-6 3SW3 140 3.0 1
s AQJ9 » K42 & AQJ97654 a8 5HXS-3 500 -10.0 1
v KQJ3 v 52 v Q8 — v T5
+ J64 * Q3 *9 * AJ8742
& A5 & JT9862 & 83 » KQ95
o ¢VABN 4,65 o ¢VABN 4 K2
N ~1~~~ ¢ T9764 N ~~ 2 ~ ~ » AKJ9432
S ~1~~~ 49752 S ~~2~~ o765
E 2~~22 &43 E ~1~3~a&T
W 2~~32 W ~1~3~
#7 » Q53 3NN-2 200 Mean: 3HS4 170 50 1 [|#38 » K6 4CE4 130 Mean: 2SS3 140 40 1
v J5 3DS4-130 -10  3DS4 130 4.0 1 v K987 5CXE-1-100 -20  5CXE-1 100 30 1
¢ 986 Dif: 330 NS:4 3CN3 110 3.0 1 ¢ 874 Dif: 230 NS:3  3SS-1 50 1.0 1
& KT985 IMP: 8 EW:5 2NN-1 4100 -30 1 & J754 IMP: 6 EW:3 4SS-2 4100 20 1
» AT864 ~ J97 3NN-2 200 -50 2 ||as 983 s Q2 4HN-2 100 20 1
v T96 + v A43 v J6543 M 4CE4 430 30 1
¢ T72 ¢ J43 + AQJ2 ¢ T965
& A6 S » Q743 » K » AQT8632
P+ OVABN ,K2 oo VAN 4 AJT754
N 343 ~1 vKQ872 N ~~32~ ¢ AQT2
S 343 ~3 ¢AKQ5 S ~~421 ¢«K3
E ~~~~~ & J2 E 43~~~ a9
W ~~~~~ W 43~~~
#9 & AK842 3NS4 -430 Mean: 3NN5 460 1.0 1 # 10 a8 4SE-1 -100 Mean: 4SE-1 100 120 1
v A3 3NN4 -430 430 3NS4 430 00 2 v K8642 4SE5 650 -510 4SE4 620 -3.0 2
+ J96 Dif: 0 NS:0 3NN4 430 00 3 + Q98652 Dif: -750 NS:-4 4SE5 650 -40 3
& AJ8 IMP: 0 EW:0 & A IMP: -13 EW:-12
» T976 # J53 K2 » AQJ7543
v J872 v KT9 v AJT9 _I_ v7
* K2 ¢ T75 J3 * K7
& T74 & K952 & KJ542 » Q76
*¢VABN 4,Q oo VABN 4T
N ~5~~4 ¢ Q654 N ~31~~ vQ53
S ~5~~4 +AQ843 S ~31~~ ¢AT4
E ~~~~~ + Q63 E 5~~43 4T983
W ~~~~~ W 5~~43
# 11 » KJ8 3NN4 -430 Mean: 4SXW-5 1100 12.0 1 ||# 12 s 76 5HNG6 -680 Mean: 6HS6 1430 120 1
v AKQ6 3NN4 -430 380 3NN4 430 20 2 v AK986 4HNG6 -680 800  5SN6 680 -3.0 1
. Dif: 0 NS:2 3Ds4 130 6.0 1 + AKQ6 Dif: 0 NS:-3 5HN6 680 -3.0 2
& QJ9543 IMP: 0 EW:2 3DS3 110 7.0 2 & AK IMP: 0 EW:3 4HN6 680 -3.0 2
& Q9654 a T732 » 932 & AJ5
v 9532 v T74 v 74 I v JT2
¢ KQ42 * J9 ¢ 932 ¢ 874
'y a AKT8 » JT954 » Q763
*4¢VAN LA % ¢ VAN o KQT84
N 422~2 ¢J8 N ~6666 v Q53
S 442~ 2 ¢AT87653 S ~6666 ¢JTI5
E ~~~~~ & 762 E ~~~~~ & 82
W ~~~~~ W ~~~~~
#13 & QT976 3NS6 -690 Mean: 3NS6 690 20 1 ||#14 s K5 2HS-1 50 Mean: 2SS2 110 50 1
v K63 4SN5 -650 630  4SN5 650 1.0 1 v 75 2SS-150 -80  2SS-1 50 1.0 1
¢+ Q32 Dif: -40 NS:1  4SN4 620 00 1 o QJT86 Dif: 0 NS:1  2HS-1 -50 1.0 1
» Q6 IMP: -1 EW:-2 3NS4 630 00 1 » K743 IMP: 0 EW:-1  2HW3 140 20 1
4 J5 ] a 843 3NS3 600 -1.0 2 ||a » T9876 3HW5 200 -3.0 2
v T85 v Q9742 v KT9632 v Ad
+ A954 + + KJ6 + K543 * A
& J987 & 52 & AQT & J9652
¢ VAN 4AK2 % ¢V AN , AQJ432
N 3~~44 oAJ N ~~~~~ v QJ8
S 3~~43 ¢T87 S ~~~~~ ¢ 972
E ~~~~~ & AKT43 E 4~5~2 &8
W ~~~~~ W 4~5~2




113 FE >2ABERFHLE

==> RS

#1: 4 Catchall(59.6) #2: 3 [EI5L(53.96) #3: 6 BHEE(49.08)

5 NS: F3fEsl ZEILEIGEO) -25 6 NS: fi% Z5HE(FC) -4 VP:| 5.36 14.64| Total VP: 47.42 Rank:
EW: BN =AZEAC) 4 EW: AN 2228 (BJO) 25 IMP:| 29 46 4
-
#1 s 95 2DXW2 -180 Mean: 3HE-2 100 3.0 1 [[#2 » 54 2HN-1 100 Mean: 3NW-2 100 30 1
v K2 3CS-1-50 0 2NXE-1 100 3.0 1 v AJT532 3NW-2100 -10  4DW-1 50 20 2
¢ KT84 Dif: -130 NS:-5 2DW-2 100 3.0 1 ¢ JT8 Dif: 200 NS:-3  3HN-1 4100 -3.0 2
& A9654 IMP: -4 EW:2 4CN-1 50 20 1 » 93 IMP: -5 EW:-3 2HN-1 100 -3.0 1
» T864 » A32 3CS-1 50 20 1 ||aT7 #» AK632
v QT v J8653 2DXW2 180 -50 1 v 76 I v Q8
¢ AJ7652 * Q9 + AKQ74 ¢ 632
*»Q » KJ8 & AT87 & 652
®+VBN 4, KQJ7 F¢VAN 4, QI8
N 3 ~~~2 yA974 N ~~2~~ y K94
S 3~~~2 ¢3 S ~~2~~ 49
E ~~~~~ & 1732 E 23~11 & KQJ
W ~~~~~ W 23~11
#3 o T8762 6HN-1 -50 Mean: 4HS5 450 3.0 4 ||#4 # K65 3DS-1-100 Mean: 4CW-1 100 3.0 1
v K8742 4HS5 450 360  4HN4 420 20 1 v QJ4 3DS-1-100 -10  3HE-1 100 30 1
¢ A Dif: -500 NS:-9 6HN-1 50 9.0 1 ¢ AJ52 Dif: 0 NS:-3 3DS3 110 3.0 1
& 72 IMP: -11 EW:-3 & 754 IMP: 0 EW:3 3DS-1 100 -3.0 2
a 94 a AJT7 3NN-2 200 -50 1
v T86 + v K9532
+ Q94 *3
& AQJT2 » 986
o o¢VABN 4, Q832
N ~3~21 ¢A7
S ~3~21 ¢ KT876
E 2~3~~ akK3
W 2 ~3~~
#5 4 T873 2HN-2 -200 Mean: 2HN-1 100 20 3 ||#6 4T3 5HXS-3 -500 Mean: 4SW-2 200 60 2
v A8 2HN-1 -100 -150  2HN-2 200 -20 3 v 76 3SW3 -140 -30  4SW-1 100 40 1
o AKTS8 Dif: -100 Ns:-2 + KQ3 Dif: -360 NS:-10 3NN-1 50 1.0 1
» KQ7 IMP: -3 EW:-2 & AJ7642 IMP: -8 EW:3 3SW3 140 3.0 1
& AQJ9 » K42 & AQJ97654 a8 5HXS-3 500 -10.0 1
v KQJ3 v 52 v Q8 — v T5
¢ J64 * Q3 *9 * AJ8742
& A5 & JT9862 & 83 » KQ95
o ¢VABN 4,65 o ¢VABN 4 K2
N ~1~~~ ¢ T9764 N ~~ 2~ ~ y AKJ9432
S ~1~~~ 49752 S ~~2~~ o765
E 2~~22 &43 E ~1~3~a&T
W 2~~32 W ~1~3~
#7 » Q53 2NN-1 -100 Mean: 3HS4 170 50 1 [|#38 » K6 2SS3 140 Mean: 2SS3 140 40 1
v J5 3NN-2-200 -10 3DS4 130 4.0 1 v K987 3S8S-1-50 -20 5CXE-1 100 30 1
¢ 986 Dif: 100 NS:-3 3CN3 110 3.0 1 ¢ 874 Dif: 190 NS:4 3SS-1 50 1.0 1
& KT985 IMP: 3 EW:5 2NN-1 4100 -30 1 & J754 IMP: 5 EW:1 4SS-2 4100 20 1
& AT864 a J97 3NN-2 200 -50 2 ||as 983 s Q2 4HN-2 100 20 1
v T96 + v A43 v J6543 M 4CE4 430 30 1
¢ T72 ¢ J43 + AQJ2 ¢ T965
& A6 S » Q743 » K » AQT8632
P+ OVABN ,K2 oo VAN 4 AJT754
N 343 ~1 vKQ872 N ~~32~ ¢ AQT2
S 343 ~3 ¢AKQ5 S ~~421 ¢K3
E ~~~~~ & J2 E 43~~~ a9
W ~~~~~ W 43~~~
#9 & AK842 3NN4 430 Mean: 3NN5 460 1.0 1 # 10 a8 4SE4 -620 Mean: 4SE-1 100 120 1
v A3 3NN4 430 430 3NS4 430 00 2 v K8642 4SE5 -650 -510 4SE4 620 -3.0 2
+ J96 Dif: 0 NS:0 3NN4 430 00 3 + Q98652 Dif: 30 NS:-3 4SE5 650 -40 3
& AJ8 IMP: 0 EW:0 & A IMP: 1 EW:4
» T976 s J53 K2 & AQJ7543
v J872 v KT9 v AJT9 _I_ v7
* K2 ¢ T75 J3 * K7
& T74 & K952 & KJ542 » Q76
*¢VABN 4,Q oo VABN 4T
N ~5~~4 v Q654 N ~31~~ »Q53
S ~5~~4 ¢AQ843 S ~31~~ ¢AT4
E ~~~~~ » Q63 E 5~~43 &T983
W ~~~~~ W 5~~43
# 11 » KJ8 3DS3 110 Mean: 4SXW-5 1100 12.0 1 ||# 12 s 76 6HS6 1430 Mean: 6HS6 1430 120 1
v AKQ6 4SXW-51100 380 3NN4 430 20 2 v AK986 5SN6 680 800  5SN6 680 -3.0 1
. Dif: -990 NS:-7 3DS4 130 6.0 1 + AKQ6 Dif: 750 NS:12 5HN6 680 -3.0 2
& QJ9543 IMP: -14 EW:-12 3DS3 110 7.0 2 & AK IMP: 13 EW:3 4HN6 680 -3.0 2
& Q9654 & T732 » 932 & AJ5
v 9532 v T74 v 74 I v JT2
¢ KQ42 * J9 ¢ 932 ¢ 874
'y a AKT8 » JT954 » Q763
*4¢VAN LA % ¢ VAN o KQT84
N 422~2 ¢J8 N ~6666 v Q53
S 442~ 2 ¢AT87653 S ~6666 ¢JTI5
E ~~~~~ & 762 E ~~~~~ & 82
W ~~~~~ W ~~~~~
#13 & QT976 3NS3 600 Mean: 3NS6 690 20 1 ||#14 s K5 2SS2 110 Mean: 2SS2 110 50 1
v K63 4SN4 620 630 4SN5 650 1.0 1 v 75 3HW5-200 -80  2SS-1 50 1.0 1
¢+ Q32 Dif: -20 NS:-1 4SN4 620 00 1 o QJT86 Dif: 310 NS:5 2HS-1 -50 1.0 1
» Q6 IMP: -1 EW:0 3NS4 630 00 1 » K743 IMP: 7 EW:3 2HW3 140 20 1
4 J5 ] a 843 3NS3 600 -1.0 2 ||a » T9876 3HW5 200 -3.0 2
v T85 v Q9742 v KT9632 v Ad
+ A954 + + KJ6 + K543 * A
& J987 & 52 & AQT & J9652
% ¢V AN 4 AK2 % ¢V AN , AQJ432
N 3~~44 oAJ N ~~~~~ v QJ8
S 3~~43 ¢T87 S ~~~~~ ¢ 972
E ~~~~~ & AKT43 E 4~5~2 &8
W ~~~~~ W 4~5~2




113 FE >2ABERFHLE

==> RS

#1: 4 Catchall(59.6) #2: 3 [EI5L(53.96) #3: 6 BHEE(49.08)

6 NS: fa & 2528 EAC) 4 5 NS: ZBigs]l ZBI15(BAO) -24 VP:| 14.64 : 5.36 | Total VP: 49.08 Rank:
EW: #hE8R: SIEEEHO) 25 EW: H5H#HE ZHE(BAC) 4 IMP:| 46 29 3
-
#1 s 95 2DXW2 180 Mean: 3HE-2 100 3.0 1 [[#2 » 54 2HN-1 100 Mean: 3NW-2 100 30 1
v K2 3CS-150 0 2NXE-1 100 3.0 1 v AJT532 3NW-2-100 -10  4DW-1 50 20 2
» KT84 Dif: 130 NS:-2 2DW-2 100 3.0 1 ¢ JT8 Dif: 200 NS:3  3HN-1 4100 -3.0 2
& A9654 IMP: 4 EW:5 4CN-1 50 20 1 » 93 IMP: 5 EW:3 2HN-1 100 -3.0 1
» T864 » A32 3CS-1 50 20 1 ||aT7 » AK632
v QT v J8653 2DXW2 180 -50 1 v 76 I v Q8
¢ AJ7652 * Q9 + AKQ74 ¢ 632
*»Q » KJ8 & AT87 & 652
®+VBN 4, KQJ7 F¢VAN 4, QI8
N 3~~~2 9vA974 N ~~2~~ v K94
S 3~~~2 ¢3 S ~~2~~ 49
E ~~~~~ & 1732 E 23~11 & KQJ
W ~~~~~ W 23~11
#3 o T8762 6HN-1 50 Mean: 4HS5 450 3.0 4 ||#4 # K65 3DS-1100 Mean: 4CW-1 100 3.0 1
v K8742 4HS5 -450 360  4HN4 420 20 1 v QJ4 3DS-1100 -10  3HE-1 100 30 1
¢ A Dif: 500 NS:3  6HN-1 50 9.0 1 ¢ AJ52 Dif: 0 NS:-3 3DS3 110 3.0 1
& 72 IMP: 11 EW:9 & 754 IMP: 0 EW:3 3DS-1 100 -3.0 2
a 94 a AJT7 3NN-2 200 -50 1
v T86 + v K9532
+ Q94 *3
& AQJT2 » 986
B o VAN 4, Q832
N ~3~21 ¢A7
S ~3~21 ¢ KT876
E 2~3~~ akK3
W 2 ~3~~
#5 4 T873 2HN-2 200 Mean: 2HN-1 100 20 3 ||#6 4T3 5HXS-3 500 Mean: 4SW-2 200 60 2
v A8 2HN-1 100 -150  2HN-2 200 -20 3 v 76 3SW3 140 -30  4SW-1 100 40 1
¢ AKT8 Dif: 100 Ns:2 + KQ3 Dif: 360 NS:-3 3NN-1 50 1.0 1
» KQ7 IMP: 3 EW:2 & AJ7642 IMP: 8 EW:10 3SW3 140 3.0 1
s AQJ9 » K42 & AQJ97654 a8 5HXS-3 500 -10.0 1
v KQJ3 v 52 v Q8 — v T5
+ J64 * Q3 *9 * AJ8742
& A5 » JT9862 & 83 » KQ95
o ¢VABN 4,65 o ¢VABN 4 K2
N ~1~~~ ¢ T9764 N ~~ 2 ~ ~ » AKJ9432
S ~1~~~ 49752 S ~~2~~ o765
E 2~~22 &43 E ~1~3~a&T
W 2~~32 W ~1~3~
#7 » Q53 2NN-1 100 Mean: 3HS4 170 50 1 [|#38 » K6 2SS3 -140 Mean: 2SS3 140 40 1
v J5 3NN-2200 -10 3DS4 130 40 1 v K987 3S8S-150 -20  5CXE-1 100 30 1
¢ 986 Dif: -100 NS:-5 3CN3 110 3.0 1 ¢ 874 Dif: -190 NS:-1  3SS-1 50 1.0 1
& KT985 IMP: -3 EW:3 2NN-1 4100 -30 1 & J754 IMP: -5 EW:-4 4SS-2 4100 20 1
& AT864 a J97 3NN-2 200 -50 2 ||as 983 s Q2 4HN-2 100 20 1
v T96 + v A43 v J6543 M 4CE4 430 30 1
¢ T72 ¢ J43 + AQJ2 ¢ T965
& A6 S » Q743 » K » AQT8632
P+ OVABN ,K2 oo VAN 4 AJT754
N 343 ~1 vKQ872 N ~~32~ ¢ AQT2
S 343 ~3 ¢AKQ5 S ~~421 ¢«K3
E ~~~~~ & J2 E 43~~~ a9
W ~~~~~ W 43~~~
#9 & AK842 3NN4 -430 Mean: 3NN5 460 1.0 1 # 10 a8 4SE4 620 Mean: 4SE-1 100 120 1
v A3 3NN4 -430 430 3NS4 430 00 2 v K8642 4SE5 650 -510 4SE4 620 -3.0 2
+ J96 Dif: 0 NS:0 3NN4 430 00 3 + Q98652 Dif: -30 NS:-4 4SE5 650 -40 3
& AJ8 IMP: 0 EW:0 & A IMP: -1 EW:3
» T976 s J53 K2 & AQJ7543
v J872 v KT9 v AJT9 _I_ v7
* K2 ¢ T75 J3 * K7
& T74 & K952 & KJ542 » Q76
*¢VABN 4,Q oo VABN 4T
N ~5~~4 ¢ Q654 N ~31~~ vQ53
S ~5~~4 +AQ843 S ~31~~ ¢AT4
E ~~~~~ + Q63 E 5~~43 4T983
W ~~~~~ W 5~~43
# 11 » KJ8 3DS3 -110 Mean: 4SXW-5 1100 120 1 ||# 12 s 76 6HS6 -1430 Mean: 6HS6 1430 120 1
v AKQ6 4SXW-5-1100 380  3NN4 430 20 2 v AK986 5SN6 -680 800  5SN6 680 -3.0 1
. Dif: 990 NS:12 3DS4 130 6.0 1 + AKQ6 Dif: -750 NS:-3 5HNG6 680 -3.0 2
& QJ9543 IMP: 14 EW:7 3DS3 110 7.0 2 & AK IMP: -13 EW:-12 4HN6 680 -3.0 2
& Q9654 a T732 » 932 & AJ5
v 9532 v T74 v 74 I v JT2
¢ KQ42 * J9 ¢ 932 ¢+ 874
'y a AKT8 » JT954 » Q763
*4¢VAN LA % ¢ VAN o KQT84
N 422~2 ¢J8 N ~6666 v Q53
S 442~ 2 ¢AT87653 S ~6666 ¢JTI5
E ~~~~~ & 762 E ~~~~~ & 82
W ~~~~~ W ~ ~~~~
#13 & QT976 3NS3 -600 Mean: 3NS6 690 20 1 ||#14 s K5 2SS2 -110 Mean: 2SS2 110 50 1
v K63 4SN4 -620 630  4SN5 650 1.0 1 v 75 3HW5200 -80 2SS-1 50 1.0 1
¢+ Q32 Dif: 20 NS:0 4SN4 620 00 1 o QJT86 Dif: -310 NS:-3 2HS-1 -50 1.0 1
» Q6 IMP: 1 EW:1 3NS4 630 00 1 » K743 IMP: -7 EW:-5 2HW3 140 20 1
4 J5 ] a 843 3NS3 600 -1.0 2 ||a » T9876 3HW5 200 -3.0 2
v T85 v Q9742 v KT9632 v Ad
+ A954 + + KJ6 + K543 * A
& J987 & 52 & AQT & J9652
¢ VAN 4AK2 % ¢V AN , AQJ432
N 3~~44 oAJ N ~~~~~ v QJ8
S 3~~43 ¢T87 S ~~m~~~ ¢ 972
E ~~~~~ & AKT43 E 4~5~2 &8
W ~~~~~ W 4~5~2




